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Equazioni logaritmiche

37. %Inlen3+ln(6—1/x+16)

x>0 x>0 x>0
Ca:<b6—,X+16>0 = 136>x+16 = <{x<20 = 0<x<?20
X+16=0 X =-16 X = -16

Inyx=1In3(6-,/x+16) = /x=18-3/x+16 = 18-./x=3,/x+16

324-36/x +x=9x+144 = 2x-45=-36./x = 4x* - 261x +2025=0

_ 261+189 % non acc.

X2
8 9

2
38. 4(Iogli -5log, x+1=0
2 2
ca:x>0: pongo: log, x =t = 4t> -5t +1=0

1= log,x=1= le

5+.25-16 2
t,=—7—m"" = 2 x:l; x:41
8 1 iF 2 2
— = log; x== = x=1=
> 2
3. (logyx)* +log,x—12=0
ca:x>0: pongo:log;x=t = t?+t-12=0
3 = log;,x=3 = x=27
-1+.,/1+48 3
t,=———————— = 1 x=27; x=i
’ 2 -4 = log,x=-4 = x:8—1 81

4. logix-logZx=0
ca:x>0: Pongo: log, x=t = t*-t*=0 = t*(t-1)=0 =

t=0 = log,x=0 = x=1

t=1 = log,x=1 = Xx=a
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Equazioni logaritmiche

4. Inx-Inx-2=0

1+.,/1+8

ca:x>0: Pongo: INXx=t = t?-t-2=0 = t, =

t=2 = Inx=2 = x=¢€°

t=-1 = Inx=-1 > x:l
€

42. Inx-4Inx=0
ca:x>0: Pongo: Inx=t = t*-4t=0 = t(t*-4)=0 =

t(t-2)(t+2)=0
t=0 = Inx=0 = x=1
t=2 = Inx=2 = x=¢€°
1
eZ

t=-2 = Inx=-2 => x=

43. In*xXx+Inx-6=0

_-1x .1+ 24

ca:x>0: Pongo: INXx=t = t°+t-6=0 = t, = 5

t=2 = Inx=2 = x=¢€°

1
e

t=-3 = Inx=-3 = x=

4. In®x-Inx* +1=0
ca:x>0: In°x-2Inx+1=0 = (Inx-1)*>=0

Inx=1 = x=¢€

45, (Inx) (InX*) +Inx* -9=0
ca:x>0: (Inx) (2Inx) +3Inx —9=0pongo: INX=t = 2t>+3t-9=0
3

3 3 =
-3+.,9+72 — = Inx== => x=¢?
= {2 2

-3 = Inx=-3 = x=¢°
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4. (Inx)®-4(Inx)>-29Inx-24=0
ca.:Xx>0: pongo: InXx=t = t>—-4t>-29t-24=0

Applico la regola di Ruffini, con t = -1 ¢ ottengo: (t + 1) (t> — 5t — 24) =0

_ 525496 _ <8 = Inx=8 = x=¢°

v 2 -3 = Inx=-3 = x=¢°
t,=-1 = Inx=-1 = x=¢e*

8 1 1
X=€; X=5;Xx==
€ €

1+logx  logx+3 11

47. =
logx -1 2-2logx 2

: : 1+t t+3 11
ca.:x>0: pongo: logx =t = - ==
t-1 2-2t 2

1+t 43 W o4t +3=11t-11 ca‘t#l
t-1 2(t-1) 2

8t=16 = t=2 = logx=2 = x=100

48. 4 - 2- 3 -2|1- 1 =14
log, X log, X log, X

ca.: x>0: pongo: loggx=t = %—2+?3—2+?2=14

%:>18 ca:tz0 = t=%:>|oggx=%:> X=3

log,x+3 _ log,x-3 _ 5log, x
log,x-3 log,x+3 logZx—-9
t+3 t-3 ot

ca.:x>0: pongo:log. x=t = =
Ponge: 103, t-3 t+3 t2-9

49.

t?+6t+9-t*+6t-9=5t ca:t#z+3 = 7t=0 = log,x=0 = x=1

50. |log,x +3|=5
ca:x>0: log,x+3=%5

log,x=2 = x=4 log,x=-8 = x=—



